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Guess Paper – 2008

Class – XII
Subject – Mathematics
MAXIMUM MARKS :25







TIME :1 HOUR

General Instructions:-

(i)Questions nos. 1 to 3 carry 3 marks each. (ii)Questions nos. 4 to 7 carry 4 marks each.

1.Write three solutions for the equation  2x – 5 y = 9  

2. The point (3,--4) lies on the line of the equation  3x = kx  + 7., Find the value of k.

3.In which quadrant or in which axis the points (-2,4) ,(3, - 1), (0,4 ),(-3, - 5),( -3,0 )and (-2, -2) lie.    

  Show them on the graph.

4.Solve the equation 2x + 1 = 7 on the  (i) number line (ii) Cartesian plane(graph).

5.In triangle ABC the bisector  AD of  
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 is perpendicular to side BC,Show that Triangle ABC is an  
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   A

6. Draw the graph of  3 = 2x 

7.In the figure E and F are the respectively  mid points  of
           E                               F

    equal sides AB and AC of triangle ABC.

    Prove that BF =CE.








   B





C
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   IVth UNIT TEST  2006
CLASS IX                                                         MAXIMUM MARKS :25

MATHEMATICS                                                             TIME :1 HOUR

General Instructions:-

(i)Questions nos. 1 to 3 carry 3 marks each.(ii)Questions nos. 4 to 7 carry 4 marks each.

1.Write three solutions for the equation  2x – 5 y = 9  

2. The point (3,--4) lies on the line of the equation  3x = kx  + 7., Find the value of k.

3.In which quadrant or in which axis the points (-2,4) ,(3, - 1), (0,4 ),(-3, - 5),( -3,0 )and (-2, -2) lie.    

   Show them on the graph.

4.Solve the equation 2x + 1 = 7 on the  (i) number line (ii) Cartesian plane(graph).

5.In triangle ABC the bisector  AD of  
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 is perpendicular to side BC,Show that Triangle ABC is an  

   isosceles.
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6. Draw the graph of  3 = 2x 

7.In the figure E and F are the respectively  mid points  of
            E                              F

    equal sides AB and AC of triangle ABC.

    Prove that BF =CE.
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MONDAY TEST FOR JULY 2005

CLASS  XI                                                         MAXIMUM MARKS :25

MATHEMATICS                                                             TIME :1 HOUR

General Instructions:-

(i) All questions are compulsory.

(ii) Questions nos. 1 to 3 carry 3 marks each.

(iii) Questions nos. 4 to 7 carry 4 marks each.

1. If    U = {1,2,3,4,…………10}

           A = {1,4,7,9}

           B = { 2,5,9,10}

           Find : ( A- B)  X  (A  U B)’

2.  If  A  * b  = a+ 3b +2 ab

     (i) Find: 3 * ½

     (ii) Show that * is not commutative.

3. Prove :

      3 log 4  - 2 log 6  + log 18
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4. If    f : R              R  be given by f (x) =
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 If   g : R              R  be given by g(x) =1 -
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        Find (f  o g) x       and   (g o f) x .

5. Prove by using Principle of Mathematic Induction :

      1 +  2 +  3 + ……………+  n  =   
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6.  If    f : R              R  be given by  f (x) = 
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      Find  domain and range of  f .

7.The value of a machine depreciates at the rate of 10% every year.If the value of the machine is   

     Rs.10000 at present, What will be its value after 10 years.
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